N = 0l & AF & F Al A

SAM: oI EOHC 0t
B Lol=NEd
ool Lol=x =A LR
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
L Ol &0 O 1k 281,920, 145 267,478,984 14,441,161
= 206,769, 368
= 24,492,655
= 50,658, 122
LoIEXsd 215,721,945 203,997,752 11,724,193
= 174,951,729
= 10,589, 169
== 30,181,047
Lo 84 215,651, 145 203,954,352 11,696,793
= 174,951,729
= 10,589, 169
& 30, 110,247
LOIESHEEIN S S2HAA 307,160 277,500 29,660
= 93,580
== 213,580
307 QIZtolA 307,160 277,500 29,660
= 93,580
= 213,580
02 OI2tZAE X 307,160 277,500 29,660
OLoBSHMEI 2 29 187,160
= 93,580
o= 93,580
OLolaly gAY S K& 120,000
PIESE= NG 146,529,099 146,080,000 449,099
= 139,000,000
= 7,529,099
308 AHXIEHSO0IA 146,529,099 146,080,000 449,099
= 139,000,000
& 7,529,099
01 AXSHHIABEZ 146,529,099 146,080,000 449,099
Oz 146,529,099
= 139,000,000
T 7,529,099
HEal XAt A& 7,816,415 7,816,415 0
= 6,006,935




AN = EO0H 0t
M Lol=XEA
CHel: Lol=X| = (SHol:®el)
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
24 LdXelArY X S 1,809,480
203 YPEXY| 7,400 7,400 0
03 AIMFAHR =AY 7,400 7,400 0
OLCIEe HRFH 2,400
OLol U FHOjOl AMARER 5,000
308 AHXIHHMSOIH 7,809,015 7,809,015 0
=2 6,006,935
< 1,802,080
01 XXEHHILEXS 7,809,015 7,809,015 0
OL0ol ARl XI&(8,544Y) 7,809,015
= 6,006,935
= 1,802,080
SEHL2 XA 2,650,000 3,179,024 A 529,024
= 2,200,000
& 450,000
308 AHXIHXMSOIH 2,650,000 3,179,024 A529,024
= 2,200,000
= 450,000
01 XXSHHBLEXS 2,650,000 3,179,024 N529,024
O=sHLo =220/ IHA(346Y) 2,650,000
= 2,200,000
< 450,000
LolE20l K& 1,729,200 3,342,344 21,613,144
= 1,400,000
& 329,200
308 AHXIHXMSOIH 1,729,200 3,342,344 A 1,613,144
= 1,400,000
= 329,200
01 XXSHHBLAEES 1,729,200 3,342,344 A1,613,144
Ooke=:20l XNE 1,729,200
= 1,400,000
= 329,200
LoEXNAE JIsEZAY 14,114,242 15,261,645 A 1,147,403
= 10,892,234




S RCCIE <Y Rl
HH: o=
ool L= ZX (S5l &)
_ _ SIEN
A -3 -H2A(SH) - HEAMY - BES O AF K 'oﬂ/'\_WH Hlws2
COI=TAIE I SEAA = 3,222,008
401 ANEHIL20H] 630,800 612,000 18,800
01 A& 627,000 610,000 17,000
OMMEBOIS JISE A 627,000
03 Al&STH| 3,800 2,000 1,800
OMMBNIS JSE2AY 3,800
403 XX SHSKHZ0|H 13,483,442 14,649,645 A 1,166,203
= 10,892,234
= 2,591,208
01 XXSHHRNEEE 13,483,442 14,649,645 A 1,166,203
OLQMEAL I SEAAY 10,175,805
= 8,687,143
= 1,488,662
OMIEQASKIAIL IS SYA
4,410, 182,000%75% 3,307,637
= 2,205,091
= 1,102,546
HQUHIN LAY 16,943,814 9,119,374 7,824,440
= 15,349,480
= 1,594,334
403 XHXISHHISIHZO0l & 16,943,814 9,119,374 7,824,440
= 15,349,480
= 1,594,334
L EEES 16,943,814 9,119,374 7,824,440
OX DTN &AL 16,693,814
= 15,349,480
= 1,344,334
OE4 228 J|s2Y 250,000
H8te0lsl 2% U LIS AK 2 106,000 67,000 39,000
307 QI2H0IF 76,000 47,000 29,000
02 QIZHAEE 40,000 11,000 29,000
OUE 0I5 TeEs ARA 2 12,000
OZ2Y T2 AN 2 28,000
04 QIASAEE 36,000 36,000 0




EAM: oI &Rt
Ha: LolSNSa
ol Lol=x =X (9l &2
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
OLQIXEX HAx=DE 13,000
OLCISENAE L AIZZEUS 13,000
OLQXNEXNRIASH 10,000
308 AXIEHXMSOIA 30,000 20,000 10,000
01 AXSHHI&AELEZ 30,000 20,000 10,000
Ok23 29H XA 20,000, 000& *50% 10,000
OLQA4 JIsSEH 40,000,000 *50% 20,000
COI0IBAIE BAX MMM X 68,400 64,800 3,600
308 XXX SOIA 68,400 64,800 3,600
01 XXNHHBIAEXZ 68,400 64,800 3,600
OL20ISANE SAX HRHMH 68,400
-5E 0l & 150,000& 72021« 12& x20% 25,920
-3~54 0|8t 120, 000& 561 * 12& x20% 16,128
-3¢ 0|8t 90,000& * 122021 x12& x20% 26,352
COIMEAIL EAX HeNA X2 230,640 218,400 12,240
308 XHXISH SOl 230,640 218,400 12,240
KX S ZE A e & 230,640 218,400 12,240
O MaEtAlL XM 230,640
-5E 0l & 180,000& *3702! * 12& *20% 159,840
-3~5 0|8t 150,000 * 13021 * 12& x20% 46,800
-3 0] 6t 100,000& *1002! * 12& *20% 24,000
SXAE X 18,406,725 12,168,500 6,238,225
= 10,589, 169
& 7,817,556
307 QI2tolA 30,000 0 30,000
04 BIZ2HSHAIE X 30,000 0 30,000
OLQIMEAIE HE A L SALA SHOIE
tal 20,000
OMItHEA AH=H St0tE 3l 10,000
308 AXISHHMSOIHA 18,376,725 12,168,500 6,208,225
= 10,589, 169
= 7,787,556
01 XXNHHBIAZEXZ 18,376,725 12,168,500 6,208,225




SA QIR QI
M Lo=2xsA
cel: Lolgx =X (&te &2
i} _ _ FSIER=
2N -3 - c2(3H) - NEME - HES 0f] AboH @;OH Hon=s2t
OLQAlE XA 13,266,815
2 10,589, 169
[= 2,677,646
OMIICQEXAIAE X 5,109,910
224 294 X 5,236,600 5,139,000 97,600
308 XXSHHMSOIA 3,447,100 3,469,000 A21,900
01 XXSHHMIAEXZ 3,447,100 3,469,000 221,900
OLQXER Ao 50,000,000 *50% 25,000
OZ2Y g43 T2 23
900,000, 0002 *20% 180,000
Ozzd A= x4 840,000, 0002 *50% 420,000
OZ2% T2 B2ALAI 29 (20H)
550,000, 0002 *50% 275,000
OZd2g 294 1 8,206,000, 000 *25% 2,051,500
OZ=2Y =522 WA (AMMAAAKX)
4,000,0002 *413JH 2 *30% 495,600
403 KRXESHEXZ201E 1,789,500 1,670,000 119,500
01 XXSHMI=EX 1,789,500 1,670,000 119,500
OoLsZ2Y 22y 540,000, 0002 *30% 162,000
OZ2Y A=A 900,000
OZR2EAE AE= 2 Js82(14H)
1,455,000, 000 *50% 727,500
AL 222 AAY 586,350 361,350 225,000
308 XXSHHSOIA 586,350 361,350 225,000
01 XXSHHMIAAEXZ 586,350 361,350 225,000
OMASTHIILE QI ALAMHIE (1,752Y)
1,445,400,0002 *25% 361,350
O2a A=A 29 900,000, 0002 *25% 225,000
cogxa 29 1 749,000 720,000 29,000
308 XXSHHSOIA 619,000 590,000 29,000
01 XXSHHMAAEXZ 619,000 590,000 29,000
okLo=Exz 29 14
2,970,000, 0002 *20% 594,000
okeoi=xz a435 XA 50,000,000 *50% 25,000
403 [XISHSK20/E 130,000 130,000 0
01 XXSHHMA=2EX 130,000 130,000 0
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S A

X| ZH -
S =

L
ol

OO eIt

goel SXNsd

ool mojol =X EX (ee: @2
SM-BH-H2A(FAH) - MIRAY - BES 01l A+oH %Egﬁ Hns2
Zofel 2XEA 66,129,910 63,415,032 2,714,878
= 31,817,639
13,903,486
[ 20,408,785
ool 2XEE 53,047,854 50,593,031 2,454,823
= 26,081,634
£ 12,470,480
[ 14,495,740
oH4g X2 23,282,076 21,888,588 1,393,488
= 19,423,992
[ 3,858,084
308 XX CHHISOI® 23,282,076 21,888,588 1,393,488
=2 19,423,992
[ 3,858,084
01 XXSHIAEED 23,282,076 21,888,588 1,393,488
ORM£=LX I (ES14,245%, 513,817
o) 23,282,076
= 19,423,992
< 3,858,084
Zoyol o/2Hl X 931,037 697,883 233,154
=2 827,588
[ 103,449
308 XX SHHISOI® 931,037 697,883 233,154
=2 827,588
[ 103,449
01 XXSHZABED 931,037 697,883 233,154
O=0folel 2| 1,034,485, 0002 *90% 931,037
=2 827,568
S 103,449
HONOIE 24 X 1,844,670 1,761,540 83,130
= 1,519,140
[ 325,530
308 XX SHHISOI® 1,844,670 1,761,540 83,130
=2 1,519,140
[ 325,530

~




S A
X XH .
(=

chel:

= OIE O 01 T
Zojel =XNEE
Tojol =X

SN HH G (EH) - MBAY - BYS o e s
01 XXSHHBLAEES 1,844,670 1,761,540 83,130
O&FMots=+=< 2,170,200,000& *85% 1,844,670
= 1,519, 140
& 325,530
ZoHel =4l K& 74,808 90,405 A 15,597
= 66,496
& 8,312
308 AtXISHXMSOI& 74,808 90,405 AN 15,597
= 66,496
= 8,312
01 XXSHHBLAEES 74,808 90,405 A 15,597
OO MEHRSHI(Z 28Y, 1 49Y)
83,120, 000& *90% 74,808
= 66,496
& 8,312
Ol SEXCH XA 10,350 5,090 5,260
= 10,350
308 XXIEHMSO0IE 10,350 5,090 5,260
= 10,350
01 XXSHHBLAEES 10,350 5,090 5,260
OO} 0l S =X EHI (1,0502)
20,700,000 *50% 10,350
= 10,350
ZOHQIMEAIL JIsSEZ X 5,584,321 5,283,490 300,831
= 3,825,614
= 1,758,707
403 NXIESHHSAH201H 5,584,321 5,283,490 300,831
= 3,825,614
& 1,758,707
01 XXX A2EX 5,584,321 5,283,490 300,831
OBNAMEAL ISSL(HES L F
22) 5,584,321
2 3,825,614
< 1,758,707
SOIEZOfOl FEOHT ALY 342,000 393,000 A51,000
= 228,000




S LoIEjel
& Zojel =XEA

chel: mOjol =XEZ (sl a e
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
SHEZ0HQ FEHIHZAY K& = 114,000

403 XXIEHSA201H 342,000 393,000 251,000
= 228,000
= 114,000
01 XXESHI=2EX 342,000 393,000 251,000
OSOHEHML FEIHZAY
3,800,000 120t =+ *75% 342,000
= 228,000
= 114,000
DOHQISTAIL AHIYA0EE KA 165,240 160,000 5,240
=2 140,454
= 24,786
308 NXIHHSOIE 165,240 160,000 5,240
= 140,454
= 24,786
01 AXHHBAEXS 165,240 160,000 5,240
OZMAU=XAIE AHILAEST KNIAAMY
270,0003 60 122 +85% 165,240
2 140,454
< 24,786
O WAL 50,000 50,000 0
= 40,000
= 10,000
307 QIZt0IA 50,000 50,000 0
= 40,000
L= 10,000
02 QtFAE X 50,000 50,000 0
OWEZHMHA WFAS 50,000
= 40,000
< 10,000
HOHQIMEAE 2H 15,478,080 15,532,595 Ab4,515
&2 12,331,480
= 3,146,600
308 NXIHHSOIH 15,478,080 15,532,595 254,515
2 12,331,480
= 3,146,600




S LoIEjel
& Zojel =XEA

ool Zojol XS (e9: @8
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
01 XASHMBLRZES 15,478,080 15,532,595 54,515
OO MEAL 29 15,478,080
= 12,331,480
= 3,146,600
ROHQl MEOIE X 1,702,890 1,862,100 A 159,210
308 XHXISHHSOIH 1,702,890 1,862,100 A 159,210
IR ENEREES 1,702,890 1,862,100 A 159,210
OB+ =K
12,0002 12,0000 * 122 x30% 518,400
SET TIPS L
35,0002 *4, 00041 CH* 122 %30% 504,000
O HIHEZ 0412 HI X &
35,0002 *2, 5007+ 7+ 122 *30% 315,000
OZEZZHAITESH N
131,00021 %9, 3007+ 7 %30% 365,490
EEROIULEN+Y X 116,928 61,776 55,152
308 XA EHHSOIH 116,928 61,776 55,152
01 XASHMBLRES 116,928 61,776 55, 152
OEZR0HY E5X4L
40,0002 %81201 % 122 x30% 116,928
RO Q1 O 2T & ALY 191,600 69,300 122,300
308 XX SHHSOIH 191,600 69,300 122,300
01 XXSHBLZED 191,600 69,300 122,300
OFLIHOIS QABLBOIZ 42 L WE
NEL] 5,000, 00021 * 1621 ¥30% 24,000
OBZ REJHOICIZ XS
230,0002 *40021 %30% 27,600
ODIHUT 0l AL HE X2
200, 0002 60021 *50% 60,000
ORMUALDASEN
10,000, 000! *167H 4 *50% 80,000
B OH QI TH & AFE XI 2 144,000 369,000 A225,000
308 XX EHHSOIH 144,000 369,000 A225,000
01 RXSHHZASED 144,000 369,000 225,000
O A2 04 O1 TH & A2 bl
30,000, 000! * 167H 2 x30% 144,000
TRV 83,000 83,000 0
307 21201 83,000 88,000 0

_10_




S LoIEjel
& Zojel =XEA

chel: Zojel SXSA (CHol: &)
_ - ez
SH-EH . C(BH) - NRAY - BES Off &F oA il i~ o Hnz2
02 LLAMLE 88,000 88,000 0
OAZ9l olsArY 8,000,0002! 110! 88,000
JOQICHHIES L AKX & (POOL) 456,000 347,000 109,000
307 2I2t01H 456,000 347,000 109,000
02 DZHAEE 150,000 179,000 29,000
OFOHQICHHES L ALK (POOL) 150,000
04 QIAHAILE 306,000 168,000 138,000
O 0HQ! 8 AHE Z (POOL) 306,000
ORI X RHEI 2 (R E) 505,050 282,114 222,936
== 59,000
3 446,050
307 elzrold 505,050 282,114 222,936
= 59,000
3 446,050
02 LAAMEE 505,050 282, 114 222,936
OBY+3ISAUEHSY 117,150
= 23,000
= 94,150
OBLEMAMNREMEES 152,900
= 36,000
< 116,900
OFfIISN2ME S 150,000
OFjolIIR A AL 30,000
Ol R EHIE 15774 2 J 5 5,000
OB RMeICiEs 22X 50,000
ZHOROIX R HIE 2 (X2 ) 1,153,000 896,000 257,000
308 XHX EHHISOIH 730,000 585,000 145,000
I ENEREES 730,000 585,000 145,000
OANZ #5tSHHE 2
75,000, 0002 * 137H 4 +30% 292,500
OANZ HOHQASEHE 29 412,500
OAZ ZOjEH 2% N
50,000, 000! *50% 25,000
403 X XISHSTHE0IH 423,000 311,000 112,000

_11_




S LoIEjel
& Zojel =XEA

Sl FOHol XS (St5: &8 2)
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ol AF o8 Hws2
01 XXM A= R X 423,000 311,000 112,000
ONZHOASH IIs22(921)
526,000, 0002 *50% 263,000
ONZHOL ARSHE JIs2Y
25,000, 0002 +8CH*30% 60,000
OB A2 OHOIQNEE AIRA T4
) 200,000, 0002 *50% 100,000
B HO A LSS (REY) 155,804 154,750 1,054
= 49,000
= 106,804
307 eI2t0lH 155,804 154,750 1,054
= 49,000
= 106,804
2 SIABNBE 155,804 154,750 1,054
OSLTMZHABAAN LK HAEH2Y 100,804
= 24,000
= 76,804
OBANLEIANA SN2 55,000
e 25,000
= 30,000
ZOHQIBOI A LSS I (K) 392,600 247,000 145,600
308 RXIEHHSOIH 289,000 144,000 145,000
01 KASHALRES 289,000 144,000 145,000
ONZHHMEORO! HIAAL NAME 2
30,000, 00021 *167H 2 +30% 144,000
OFAZOHY IHE Z0S &X
160,000, 0002 *30% 48,000
OAIZZOHQl JHE JtAQIED| & 52,000
ONSHMN P2EF K&
90,000, 0002 *50% 45,000
403 TXISHSKHZO0IH 103,600 103,000 600
01 XXM A= R E 103,600 103,000 600
OF 4 OIE X B2t M & X ALY
518,000, 0002 *20% 103,600
DN M AT EHE 2 50,000 50,000 0
307 eI2t0IH 50,000 50,000 0
02 PABYBE 50,000 50,000 0

_12_
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S LoIEjel
& Fojel XS

chel: Fojol=X Ao (crol: &2
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
O MAS BHIHAIE 2 = 63,127

307 QIZt0IA 105,212 101,128 4,084
= 42,085
L= 63,127
02 QtFAE X 105,212 101,128 4,084
O MAMZ HIHAIE 2 105,212
= 42,085
< 63,127
ZOHel MHEEXI|H X3 67,247 61,650 5,597
= 59,774
= 7,473
308 NXIHHSOIH 67,247 61,650 5,597
2 59,774
= 7,473
01 XNXEHHMILEXS 67,247 61,650 5,597
OFOHe HEEXRI 7 E=XA(801Y)
74,718,000& *90% 67,247
= 59,774
= 7,473
SEZHA XM (ILXJHH 2= 210,000 96,000 114,000
= 120,000
= 90,000
308 NXIHHSOIH 210,000 96,000 114,000
= 120,000
& 90,000
01 XNXEHHMILEXS 210,000 96,000 114,000
OEZHM NYMEXALE 29
300,000, 000& *70% 210,000
= 120,000
= 90,000
OO AR S TAIY 29 5,469, 145 4,860,220 608,925
=2 4,120,423
= 1,348,722
307 QIZt0IA 45,650 42,000 3,650
= 31,955
= 13,695




S QI EOfOI Dt
Hal: Zojol SXNSH

Sl FOHOI=R F oS CERE
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES Off &F oA il i~ o Hnz2
VECEEPTEES 45,650 0 45,650
OZZZ0jel FELZTO DY N 45,650
2 31,955
= 13,695
308 XXEHSOIH 5,423,495 4,818,220 605,275
= 4,088,468
= 1,335,027
01 RASHBAEES 5,423,495 4,818,220 605,275
OFZZojol BESSEXAAL(1,0418) 3,189,695
2 2,668,868
= 520,827
OSZTY HESIAMY FIHXS
800,000, 0002 *30% 240,000
OF0jol IR0l 2 X2
25, 00021 *150% %202 *122 *30% 270,000
O OjOIS HEX 2 2,028,000, 000! *85% 1,723,800
2 1,419,600
= 304,200
Zojel LR 2IAY K 1,394,545 722,271 672,274
= 915,030
= 479,515
308 XXEHSOIH 1,394,545 722,271 672,274
= 915,080
= 479,515
NIRSEN EREES 1,394,545 722,271 672,274
OF0jol =X LX2lA (1982)
425,700,000% +75% 319,275
2 212,850
= 106,425
OFONQ S#H T L0IAR (137)
1,404,360, 00021 +75% 1,053,270
2 702, 180
= 351,000
OOl SEXANLSIEH 2Y
44,000, 00021 *50% 22,000
BN EATHHAILIISEY X2 718,039 860,470 ~142,431
= 478,693
= 239,346




S QI EOfOI Dt
Hal: Zojol SXNSH

ool FojoI=R e (el @2
_ _ _ Muo
SA - SR(E) - HRAY - BES 0 & 24 i HIRE
403 XXM SX20IH 718,039 860,470 A 142,431
= 478,693
= 239,346
01 XXEHHMA=EX 718,039 860,470 N 142,431
OFOHAITLTZ AL D52 718,039
= 478,693
= 239, 346
O EX2 29 2,300,120 2,336,000 A 35,880
= 1,058,485
= 1,241,635
307 QIZ2told 2,300,120 2,336,000 A 35,880
&2 1,058,485
S 1,241,635
02 glztHaEx 20,000 25,000 /5,000
OZOI=XI BAK 22D 20,000
= 10,000
= 10,000
05 CIZtRE= 2,280,120 2,311,000 230,880
OBMSTZ 2 1,717,870
= 853,735
[ 864,135
OBM=NE 2B 120,000
OHOQ F2AESAE 2 130,000
= 40,000
= 90,000
OOl I ME 29 180,000
= 116,750
= 63,250
OFoe!l BSHEINY 29 60,000
= 38,000
< 22,000
OZofI=TI R S2AXSM X2 50,000
OFoRl HHES 2 22,250
s 2 53,700 75,352 A21,652
= 24,000




S LoIEjel
& Fojel XS

ol FOpol=X &S (£49: & 2)
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
ZOHQIHS 2 2 < 29,700

307 SI2t0lH 53,700 75,352 A21,652
= 24,000
= 29,700

02 PINANBE 53,700 75,352 A21,652
OFMoISD 2 53,700
= 24,000
< 29,700

DOHOISHEAIL 29 160,200 213,900 53,700
= 72,000
= 83,200

307 SI2t0lH 160,200 213,900 53,700
= 72,000
= 83,200

EEIEPEES 160,200 213,900 53,700
OFMQABTHEANE 2 160,200
= 72,000
< 88,200

S ZOHQIAIE BAK MR IHAH| 179,640 174,960 4,680

307 212+0I 179,640 174,960 4,680

02 SIRAHARE 57,600 48,600 9,000
OFMHAMEAIE SAR XN 57,600
-5 0l 4 150,000 %2201+ 122 39,600
~3-5 0/t 120,000 %501+ 122 7,200
-3¢ olgt 90,0008 *1001 %122 10,800

05 BIRASIES 122,040 126,360 14,320
OB 2 SAK MM & 122,040
-5 014t 150, 0002 +4101 122 73,800
-3-51 0/8t 120,000 * 1401« 122 20, 160
-3 09t 90,0008 *2621+12% 28,080

NI T SAIL 2 230,000 140,910 89,090

308 KX EHSOIH 230,000 140,910 89,090

01 RXNSHBA2ES 230,000 140,910 89,090




S QI EOfOI Dt
Hal: Zojol SXNSH

ol TSR H (et9l: 22
SA B (E) - HRAY - B Off &b o8 e HDE2
OFel MNATHEANE 29 230,000
ZOHCIAIE S ALA MM & | 428,208 394,140 34,068
308 XXIESHMSO0IHE 428,208 394,140 34,068
01 XXHXNIAEEZ 428,208 394,140 34,068
OANZEOA0ISAIE SAX HRHMH 100,080
-5 0l & 150, 0002 =150 « 123 x20% 54,000
-3~5E 0| Bt 120,000 & *85H * 123 x20% 24,480
-3 08t 90,000& 100 » 12& *x20% 21,600
OANZZ AT EAIE SALL HLMA 17,544
5301 & 180,000 & «27F * 123 x20% 11,664
-3~5E 0| Bt 150,000 * 11 x 12& *20% 3,960
-3 018t 100,000 *8H * 123 x20% 1,920
OAIZE el MEAL SAX HRHS 310,584
5301 & 180, 000& *432H + 12& *20% 186,624
-3~5E 0] 8t 150,000 *281H «12& x20% 101,160
-34 0/ 8t 100,000 & *95F * 123 x20% 22,800
EUTNANYMEBLH 2 450,000 500,000 50,000
307 2IZ2tolA 450,000 500,000 A50,000
02 QUAFAES R 450,000 500,000 A50,000
Osd =STML NSHMEHEH 29 200,000
OZe LXteldEdE =SANHERT 22 250,000
ZOHQITHEAIL DIS2Z 146,000 521,000 A375,000
= 73,000
& 73,000
402 SIZ2EX =0l 146,000 521,000 A375,000
= 73,000
& 73,000
01 QZREE=X 146,000 521,000 A375,000
O&feI=x2 s 146,000
= 73,000
& 73,000
ANZLEOHI=X2 HE 1,170,000 1,764,000 A594,000
= 205,521




EAM: oI &Rt
HH: Zojel =XNEH
ol TSR H (cHel i el)
SN (B) - MBEAY - B2 0l aF ol Soe HRZ2
AZE I EX 2 AHE T 964,479
401 AIZHIZLE204H] 1,170,000 1,764,000 A594,000
= 205,521
< 964,479
01 Al&H| 1,170,000 1,764,000 594,000
OAIZE =K AHE 1,170,000
= 205,521
T 964,479
HYESHHH (= &0l ) 68,290 66,200 2,090
ol 2A 4,200 4,200 0
olaed2AH| (LI &0l ) 4,200 4,200 0
203 ERF&XH| 4,200 4,200 0
04 ENSIYERF=EH 4,200 4,200 0
OLQIEOIY HREX 4,200
Jl2& | 64,090 62,000 2,090
J2Z Y[ (LI ZHoHel ) 64,090 62,000 2,090
201 Y2yl 32,300 31,000 1,300
01 AtR2t2ld] 32,300 31,000 1,300
OLoIEMeISERFA 32,300
202 O44| 31,790 31,000 790
01 =2WAbI 31,790 31,000 790
OLQIEMIARER 31,790
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